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- 270,000 X1 270
2,000
[ 72,000] 2,500
@
- ) 200,000 X10 = 2,000
[ 7';’0(?00] 3,300 3,700
7,000
O
- 700,000 X6 = 4,200
- 19,000 X140 =  2.660
- 44,000 X1 = 44
O 48,000 X2 X! = 96
0 16,0000  A16,000
14,840
[ 14,840] 13,720
800
O
- 7,000 X2 X20 = 280
- 260,000 X2 = 520
- 2,500
. 2,500
RESCUE [ 2,500] 0
O
- 100,000 X1 X25 = 2,500
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[ "?09000] 6,400 A4,500
300
[ 300 300
150,000 X2 = 300
1,600
[ '1,600] 5500
400,000 X4& = 1,600
720
720
[ 720] 720
100,000 X3 = 300
50,000 X4 = 200
220,000 X1 = 220
3,000
3,000
[ '3,000] 3,000
300,000 x8 2 400
7500 x40 = 300
33,750 x8 = 270
30,000 x! = 30
[ 5'§°E§’oo] 2,500 3,100
5,600
[ 5600 2,500
11 x16,000 = 176
CD 324,000 xiset= 324
500,000 X1 = 500
500,000 X! = 500
200,000 X1 = 200
35,000 x30 1,050
= 2,850

35,625 X2 X5 X8
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320
[ 320]

320

320
[ 320]

320,000 X1 =

320

0

300

A300

[

I

[
I

313,275
95,934]
169,541]
32,000]
15,800]

294,785

18,490

[

I

193,035
77,214]
115,821]

193,035

i

2,000
[ 800]
1,200]

2,000

120,000 XI{
160,000

X1
X1

=120
= 160

280
[ 112]
[ 168]

290,000

X4

= 1,640

1,640
[ 656]
[ 984]

30,000
50,000

X1
X1

50

80
[ 32]
[ 48]

[
[

3,500
1,400]
2,100]

3,500

120,000 X10

X2

= 2,400

[

2,400
[ 960]
1,440]

60,000
20,000 Xi5
100,000
90,000

X2
X2
X2
X2

120
600
200
180
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12,500

[ 5,000) 10,000 2,500
[ 7.500]
4,800
160,000 X5 X5 = 4,000 | [ 1,920]
18,000 x5 x5 = 450 | [ 2,880]
( , ) 70,000 X5 = 350
3,700
50,000 X4 = 200 | [ 1,A480]
1,000,000 X1 = 1,000 | [ 2220]
500,000 X5 = 2,500
3,900
7,000 X200 = 1,400 | [ 1,560]
8,000 X250 = 2,000 | [ 2,340]
500,000 X! = 500
100
20,000 X1 X5 = 100 % 28%
15,500
[ 6,200 20,000 4,500
[ 9.300]
15,000
[ 6,000]
3,000,000 X5 = 15,000 | [ 9,000]
500
(2 ) 15,000 X8 X2 = 240 %gg%
90,000 X2 = 180
40,000 X2 = 80
10.000
[ 4,000] 11,000 A1,000
[ 6,000]
4 )
300,000 X1 X4 = 1,200 [4’?"&0]
15,000 X20 X4 = 1,200 [ 2:400]
100,000 X4 = 400
300,000 X4 = 1,200
800,000 X1 = 800 [4'?0300]
15,000 X150 = 2,250 | [ 2'400]

500,000 X1 = 500
450,000 X1 = 450
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1,200

- 15,000 X7 X6 = 630 | [ 480]
- 250,000 x1 = 250 | [ 720]
- 320,000 X1 320
800
O [ 320]
- 200,000 X1 = 200 | [ 1g0]
O 50,000 X12 = 600
29,000
[ 11,600] 20,000 9,000
[ 17,400]
_ 10,800
X = )
O 50,000 Xx12 600 [ 4320]
O 9,000,000 X1 = 9,000 [ 6,480]
O 300,000 X4 = 1,200
O
- 1,000 X1,000 = 1,000
- 9,000 X500 = 4,500
- 3,000 X1,000 = 3,000 14,300
- _ [ 5,720]
5,000 X400 = 2,000 | f g'zen]
- 300 X%2,000 = 600 '
- 3,000 X600 = 1,800
O
- 1,000 X700 X2 = 1,400
_ 3,900
X = '
O 50,000 X72 3,600[ ! 560]
O [ 2,340)]
- 300,000 X1 = 300
2,000
800] 0 2,000
[ 1,200]
O
- 200,000 X1 = 200
- 150,000 X1 = 150 1,700
- 50,000 X! = 50 680]
- 5,000 x60 = 300 |[ 1,020]
- 5,000 X20 = 100
- (4 20,000 X10 X4 = 800
O 100,000 X1 = 100
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300

200,000 X! = 200 E ;%8%
O 50,000 X2 = 100
16,000
[ 6.400] 7,000 9,000
[ 9.600]
12,000
) [ 4,.800]
- 4,000,000 X3 =12,000 | [ 7,200]
2,600
O [ 71 .080]
- 1,200,000 X2 = 2,400 | [ {'560]
- ) 100,000 X2 = 200
600
O [ 240]
- 20,000 X10 X2 = 400 | [ 3g0]
- ) 100,000 X2 = 200
_ 800
X =
) 50,000 X10 500 | 8%
O [ 480]
- 300,000 X1 = 300
12,000
[ 4,800] 16,000 4,000
[ 7,200]
3 )
O
- 200,000 X4 X3 = 2,400
- 10,000 X30 X3 X3 = 2,700 7,200
- 100,000 X3 = 300 | [ 2,880]
- 300,000 X1 = 300 | [ 4320]
O
- 10,000 X40 X3 = 1,200
- 100,000 X3 = 300
1,950
O [ 780]
- 1,500,000 X1 = 1,500,000 | [ {170]
- 450,000 X! = 450,000
[2,250]
900
) 50,000 X45 = 2,250 | [ {350]
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600

100,000 X30 = 300 % %ég%
300,000 X1 = 300
95,000
[ 10,000 56,0000  A31,000
[ 15,000]
20,000
[ 8,000]
800,000 x25 = 20,000 |[ 12,000]
1,200
15,000 X28 X2 = 840 E ;'38%
180,000 X2 = 360
1,500
15,000 X30 X2 = 900 E ggg%
300,000 X2 = 600
600
[ 240]
30,000 X5 X4 =600 [ 360]
900
150,000 X4 =600 [ 360]
15,000 X10 = 150 [ s540]
150,000 X1 = 150
800
50,000 X16 = 800 E 233%
97,500
[ 11,000 24,000 3,500
[ 16,500]
20,000
[ 8,000]
20,000,000 x1 =20,000 | [ 12,000]
1,000
500,000 X1 = 500 % 2’88}
500,000 X1 = 500
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4,600
15,000 X15 X8 = 1,800 | [ 1,840]
« ) 100,000 x8 = 800 | [ 2760]
2,000,000 X1 = 2,000
O 50,000 X10 = 500
O 1,900
500,000 X2 = 1,000 | [ 760]
O [ 1,140]
100,000 X2 = 200
100,000 X1 = 200
5,000
[ 2,000] 5,000 0
[ 3,000]
O
- 10,000 X20 X2 = 400 [702%0]
- 50,000 X2 = 100 [ 420]
- 50,000 X2 = 100
- 50,000 X2 = 100
O
- 10,000 X12 X2 = 240 2,040
- 50,000 X2 = 100 [ 816]
- 50,000 x2 = 100 | [ 1,224]
- 50,000 X2 = 100
- 50,000 X3 X10 = 1,500
O
- 10,000 X20 X2 = 400 1,200
- 50,000 X2 = 100 [ 480]
- 50,000 X2 = 100 [ 720]
- 50,000 X2 = 100
- 250,000 X1 X2 = 500
560
O [ 224]
- 560,000 X1 = 560 [ 336]
500
O ( ) 50,000 X10 X1 = 500 % 388%
5,000
[ 2,800] 7,000 A2,000
[ 4,200]
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300,000 X1 =300

300
[ 120]
[ 180]

2

150,000 X4 = 600
375,000 X4 = 1,500
150,000 X4 = 600

[
(

2,700
1,080]
1,620]

1,000 X1,000 = 1,000

[
(

1,000
1,000]
1,500]

50,000 X20 = 1,000

1,000
[ 600]
[ 900]

[
I

28,035
11,214]
16,821]

17,035

11,000

10,000 X30 X{ = 300
135,000 X1 = 135

435
[ 174]
[ 261)

400,000 X3 = 1,200

1,200
[ 480]
[ 720]

5,000,000 X1 = 5,000

/e

5,000
2,000]
3,000]

20,000,000 Xx{ = 20,000

[
(

20,000
8,000]
12,000]

5,000 X200

1,000

1,000
[ 400]
[ 600]

50,000 X8 = 400

400
[ 160]
[ 240]

[
[
I

104,440
18,720]
53,720]
32,000]

87,000

17,440
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10,000

[ 4,000] 10,000
[ 6,000]
O 750
- 150,000 X3 = 450 300]
- 20,000 X5 = 100 450]
- ( ) 200,000 X1 = 200
600
© 240]
- 20,000 X10 X2 = 400 360]
- ( , ) 100,000 X2 = 200
' 600
© 240]
- 20,000 X10 X2 = 400 360]
- ( , ) 100,000 X2 = 200
2,000
O 800]
- 50,000 X2 Xx20 = 2,000 | [ 1,200]
1,000
O 400]
- 1,000,000 X1 = 1,000 600]
4,000
© [ 1,600]
- 1,000 %2,000 2,000 | [ 2'400]
- 8,000 X250 = 2,000
O 50,000 X7 = 350 1,050
O 420]
- 400,000 X1 = 400 630]
- 300,000 X1 = 300
10,000
[ 5,000] 10,000
[ 5,000]
a o)
O
- 500,000 X! = 500 2500
- 10,000 X20 X1 =200 | [ 1,250]
- 10,000 %20 x4 = 800 | [ 1,250]
- 30,000 X20 X{ = 600
- 400,000 X1 = 400
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10,000 X20 X12 = 2,400 [Gfgoé’so]
50,000 X112 = 600 [ 3:250]
250,000 X112 = 3,000
500,000 X1 = 500

1,000
500,000 X1 = 500 % ggg%
50,000 X1 X10 = 500
20,000
)
3,300,000 X1 = 3,300
3,300,000 X1 = 3,300 [9'309000]
1,100,000 X1 = 1,100 '
1,100,000 X1 = 1,100
1,100,000 X1 = 1,100
2,200
550,000 %2 = 1,100 | [ 2,200]
550,000 X2 = 1,100
2,400
[ 2,400]
400,000 X6 = 2,400
2,300
2,000,000 X1 = 2,000 | [ 2,300]
300,000 X1 = 300
1,100
[ 1,100]
1,100,000 X1 = 1,100
500,000 X1 = 400 2,100
[ 2,100]
900,000 X1 = 700
50,000 X20 = 1,000
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[ '31’3?%%0] 10,000 3,000
13,000
[ 13,000
13,000,000 X1 (13 )= [BROOLO
19,440

[ 9,720] 0
[ 9,720]
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150,000 X3 = 4350 1,200
150,000 X3 = 450 | [ 1,200]
100,000 X2 = 200
50,000 X2 = 100
600
[ 600]
10,000 X60 = 600
400,000 X1 = 400 3,500
15,000 X120 = 1,800 | [ 3,500]
350,000 X2 = 700
600,000 X1 = 600
700
100,000 %1 = 100 | [ 700]
50,000 X12 = 600
15,800
[ 15.800] 14,750 1,050
7,000
[ 7,000] 6,750 250
7,000
500,000 X14 = 7,000 | [ 7,000]
3,850
[ 3.850] 3,500 350
3,250,000 X1 (13 )= 3,250 3,850
200,000 X1 =200 | [ 3,850]
400,000 X1 = 400
4950
[ 4950] 4500 450
4,950
450,000 X11 = 4,950 | [ 4,950]




